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In the xy-plane, the graph of which of the lollowing
equations is a line with a slope of 37

C) y=3x+2

D) y=6x+3
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Line ¢ is shown in the xy-plane below.
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What is the slope of line t ?
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Rearrange all equations to isolate p:

T =12
734D
=10
i

6u =2 (5y - 89)
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If a and b are positive numbers such that

a+b
2b = 3a, what is the value of B ?

4b
If @ =2, whatis the value of 7?

b
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‘The graph ofline k is shown in the xy-plane above. Which of the following is
an equation of a ine that is perpendicular to line k?

N ym-zst
B y=-ber2
Oy L3

D) y=2c+4
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A voter registration drive was held in Town Y. The number of voters, V, registered.
T days afer the drive began can be estimated by the equation V= 3450 + 65T.
‘What i the best interpretation of the number 65 in ths equation?

A) The number of registered voters at the beginning of the registration drive
B) The number of regisered voers a the end of the registration drive

©) The total number of voters registered during the drive.

D) The mumber of voters registered each day during the drive.





